

Continuing Professional Education Certificate of Attendance

on

March 15, 2023

Certificate of Attendance Awarded to:

Chandler Barron

Activity	General
Lone Star HFMA Webinar: 2022 Capital Markets Recap & 2023 Outlook for NFP Health Systems	1.00
Total	1.00

Instruction Method: Group Live

In accordance with the standards of the Texas State Board of Public Accountancy,
CPE Credits have been granted based on a 50-minute hour.

CPE Sponsor #1140 - Lone Star Chapter of HFMA
Contact: Barbara Holloway

HFMA Lone Star Chapter | 1530 P B Lane #D1270 | Wichita Falls, TX 76302-2612 | 813.994.0107 | info@lonestarhfma.org

Registrar: *Barbara Holloway*

We have registered with the Texas State Board of Accountancy to meet the requirements of the continuing professional education rules covering maintenance of attendance records, retention of program outlines, qualifications of instructors, program content, physical facilities & length of class hours. This registration agreement does not constitute an endorsement by the Board as to the quality of the program or its contribution to the professional competence of the licensee. Records are kept on file for 5 years for audit purposes.

Continuing Professional Education Certificate of Attendance

on

March 15, 2023

Certificate of Attendance Awarded to:

Cindy Collier

Activity	General
Lone Star HFMA Webinar: 2022 Capital Markets Recap & 2023 Outlook for NFP Health Systems	1.00
Total	1.00

Instruction Method: Group Live

In accordance with the standards of the Texas State Board of Public Accountancy,
CPE Credits have been granted based on a 50-minute hour.

CPE Sponsor #1140 - Lone Star Chapter of HFMA
Contact: Barbara Holloway

HFMA Lone Star Chapter | 1530 P B Lane #D1270 | Wichita Falls, TX 76302-2612 | 813.994.0107 | info@lonestarhfma.org

Registrar: *Barbara Holloway*

We have registered with the Texas State Board of Accountancy to meet the requirements of the continuing professional education rules covering maintenance of attendance records, retention of program outlines, qualifications of instructors, program content, physical facilities & length of class hours. This registration agreement does not constitute an endorsement by the Board as to the quality of the program or its contribution to the professional competence of the licensee. Records are kept on file for 5 years for audit purposes.

Continuing Professional Education Certificate of Attendance

on

March 15, 2023

Certificate of Attendance Awarded to:

Suzanne Fleming

Activity	General
Lone Star HFMA Webinar: 2022 Capital Markets Recap & 2023 Outlook for NFP Health Systems	1.00
Total	1.00

Instruction Method: Group Live

In accordance with the standards of the Texas State Board of Public Accountancy,
CPE Credits have been granted based on a 50-minute hour.

CPE Sponsor #1140 - Lone Star Chapter of HFMA
Contact: Barbara Holloway

HFMA Lone Star Chapter | 1530 P B Lane #D1270 | Wichita Falls, TX 76302-2612 | 813.994.0107 | info@lonestarhfma.org

Registrar: *Barbara Holloway*

We have registered with the Texas State Board of Accountancy to meet the requirements of the continuing professional education rules covering maintenance of attendance records, retention of program outlines, qualifications of instructors, program content, physical facilities & length of class hours. This registration agreement does not constitute an endorsement by the Board as to the quality of the program or its contribution to the professional competence of the licensee. Records are kept on file for 5 years for audit purposes.

Continuing Professional Education
Certificate of Attendance

on

March 15, 2023

*Certificate of Attendance Awarded to:****Vicki Galati***

Activity	General
Lone Star HFMA Webinar: 2022 Capital Markets Recap & 2023 Outlook for NFP Health Systems	1.00
Total	1.00

Instruction Method: Group Live

In accordance with the standards of the Texas State Board of Public Accountancy,
CPE Credits have been granted based on a 50-minute hour.

CPE Sponsor #1140 - Lone Star Chapter of HFMA
Contact: Barbara Holloway

HFMA Lone Star Chapter | 1530 P B Lane #D1270 | Wichita Falls, TX 76302-2612 | 813.994.0107 | info@lonestarhfma.org

Registrar: *Barbara Holloway*

We have registered with the Texas State Board of Accountancy to meet the requirements of the continuing professional education rules covering maintenance of attendance records, retention of program outlines, qualifications of instructors, program content, physical facilities & length of class hours. This registration agreement does not constitute an endorsement by the Board as to the quality of the program or its contribution to the professional competence of the licensee. Records are kept on file for 5 years for audit purposes.

Continuing Professional Education Certificate of Attendance

on

March 15, 2023

Certificate of Attendance Awarded to:

Susan Ikamba

Activity	General
Lone Star HFMA Webinar: 2022 Capital Markets Recap & 2023 Outlook for NFP Health Systems	1.00
Total	1.00

Instruction Method: Group Live

In accordance with the standards of the Texas State Board of Public Accountancy,
CPE Credits have been granted based on a 50-minute hour.

CPE Sponsor #1140 - Lone Star Chapter of HFMA
Contact: Barbara Holloway

HFMA Lone Star Chapter | 1530 P B Lane #D1270 | Wichita Falls, TX 76302-2612 | 813.994.0107 | info@lonestarhfma.org

Registrar: *Barbara Holloway*

We have registered with the Texas State Board of Accountancy to meet the requirements of the continuing professional education rules covering maintenance of attendance records, retention of program outlines, qualifications of instructors, program content, physical facilities & length of class hours. This registration agreement does not constitute an endorsement by the Board as to the quality of the program or its contribution to the professional competence of the licensee. Records are kept on file for 5 years for audit purposes.

Continuing Professional Education Certificate of Attendance

on

March 15, 2023

Certificate of Attendance Awarded to:

Carlous Ivey

Activity	General
Lone Star HFMA Webinar: 2022 Capital Markets Recap & 2023 Outlook for NFP Health Systems	1.00
Total	1.00

Instruction Method: Group Live

In accordance with the standards of the Texas State Board of Public Accountancy,
CPE Credits have been granted based on a 50-minute hour.

CPE Sponsor #1140 - Lone Star Chapter of HFMA
Contact: Barbara Holloway

HFMA Lone Star Chapter | 1530 P B Lane #D1270 | Wichita Falls, TX 76302-2612 | 813.994.0107 | info@lonestarhfma.org

Registrar: *Barbara Holloway*

We have registered with the Texas State Board of Accountancy to meet the requirements of the continuing professional education rules covering maintenance of attendance records, retention of program outlines, qualifications of instructors, program content, physical facilities & length of class hours. This registration agreement does not constitute an endorsement by the Board as to the quality of the program or its contribution to the professional competence of the licensee. Records are kept on file for 5 years for audit purposes.

Continuing Professional Education Certificate of Attendance

on

March 15, 2023

Certificate of Attendance Awarded to:

David Jackson

Activity	General
Lone Star HFMA Webinar: 2022 Capital Markets Recap & 2023 Outlook for NFP Health Systems	1.00
Total	1.00

Instruction Method: Group Live

In accordance with the standards of the Texas State Board of Public Accountancy,
CPE Credits have been granted based on a 50-minute hour.

CPE Sponsor #1140 - Lone Star Chapter of HFMA
Contact: Barbara Holloway

HFMA Lone Star Chapter | 1530 P B Lane #D1270 | Wichita Falls, TX 76302-2612 | 813.994.0107 | info@lonestarhfma.org

Registrar: *Barbara Holloway*

We have registered with the Texas State Board of Accountancy to meet the requirements of the continuing professional education rules covering maintenance of attendance records, retention of program outlines, qualifications of instructors, program content, physical facilities & length of class hours. This registration agreement does not constitute an endorsement by the Board as to the quality of the program or its contribution to the professional competence of the licensee. Records are kept on file for 5 years for audit purposes.

Continuing Professional Education Certificate of Attendance

on

March 15, 2023

Certificate of Attendance Awarded to:

Christopher Kubin

Activity	General
Lone Star HFMA Webinar: 2022 Capital Markets Recap & 2023 Outlook for NFP Health Systems	1.00
Total	1.00

Instruction Method: Group Live

In accordance with the standards of the Texas State Board of Public Accountancy,
CPE Credits have been granted based on a 50-minute hour.

CPE Sponsor #1140 - Lone Star Chapter of HFMA
Contact: Barbara Holloway

HFMA Lone Star Chapter | 1530 P B Lane #D1270 | Wichita Falls, TX 76302-2612 | 813.994.0107 | info@lonestarhfma.org

Registrar: *Barbara Holloway*

We have registered with the Texas State Board of Accountancy to meet the requirements of the continuing professional education rules covering maintenance of attendance records, retention of program outlines, qualifications of instructors, program content, physical facilities & length of class hours. This registration agreement does not constitute an endorsement by the Board as to the quality of the program or its contribution to the professional competence of the licensee. Records are kept on file for 5 years for audit purposes.

Continuing Professional Education Certificate of Attendance

on

March 15, 2023

Certificate of Attendance Awarded to:

Jeffrey Kurland

Activity	General
Lone Star HFMA Webinar: 2022 Capital Markets Recap & 2023 Outlook for NFP Health Systems	1.00
Total	1.00

Instruction Method: Group Live

In accordance with the standards of the Texas State Board of Public Accountancy,
CPE Credits have been granted based on a 50-minute hour.

CPE Sponsor #1140 - Lone Star Chapter of HFMA
Contact: Barbara Holloway

HFMA Lone Star Chapter | 1530 P B Lane #D1270 | Wichita Falls, TX 76302-2612 | 813.994.0107 | info@lonestarhfma.org

Registrar: *Barbara Holloway*

We have registered with the Texas State Board of Accountancy to meet the requirements of the continuing professional education rules covering maintenance of attendance records, retention of program outlines, qualifications of instructors, program content, physical facilities & length of class hours. This registration agreement does not constitute an endorsement by the Board as to the quality of the program or its contribution to the professional competence of the licensee. Records are kept on file for 5 years for audit purposes.

Continuing Professional Education Certificate of Attendance

on

March 15, 2023

Certificate of Attendance Awarded to:

Mitchell Mulvehill

Activity	General
Lone Star HFMA Webinar: 2022 Capital Markets Recap & 2023 Outlook for NFP Health Systems	1.00
Total	1.00

Instruction Method: Group Live

In accordance with the standards of the Texas State Board of Public Accountancy,
CPE Credits have been granted based on a 50-minute hour.

CPE Sponsor #1140 - Lone Star Chapter of HFMA
Contact: Barbara Holloway

HFMA Lone Star Chapter | 1530 P B Lane #D1270 | Wichita Falls, TX 76302-2612 | 813.994.0107 | info@lonestarhfma.org

Registrar: *Barbara Holloway*

We have registered with the Texas State Board of Accountancy to meet the requirements of the continuing professional education rules covering maintenance of attendance records, retention of program outlines, qualifications of instructors, program content, physical facilities & length of class hours. This registration agreement does not constitute an endorsement by the Board as to the quality of the program or its contribution to the professional competence of the licensee. Records are kept on file for 5 years for audit purposes.

Continuing Professional Education Certificate of Attendance

on

March 15, 2023

Certificate of Attendance Awarded to:

Tammy Ormuz

Activity	General
Lone Star HFMA Webinar: 2022 Capital Markets Recap & 2023 Outlook for NFP Health Systems	1.00
Total	1.00

Instruction Method: Group Live

In accordance with the standards of the Texas State Board of Public Accountancy,
CPE Credits have been granted based on a 50-minute hour.

CPE Sponsor #1140 - Lone Star Chapter of HFMA
Contact: Barbara Holloway

HFMA Lone Star Chapter | 1530 P B Lane #D1270 | Wichita Falls, TX 76302-2612 | 813.994.0107 | info@lonestarhfma.org

Registrar: *Barbara Holloway*

We have registered with the Texas State Board of Accountancy to meet the requirements of the continuing professional education rules covering maintenance of attendance records, retention of program outlines, qualifications of instructors, program content, physical facilities & length of class hours. This registration agreement does not constitute an endorsement by the Board as to the quality of the program or its contribution to the professional competence of the licensee. Records are kept on file for 5 years for audit purposes.

Continuing Professional Education Certificate of Attendance

on

March 15, 2023

Certificate of Attendance Awarded to:

Steven Porcello

Activity	General
Lone Star HFMA Webinar: 2022 Capital Markets Recap & 2023 Outlook for NFP Health Systems	1.00
Total	1.00

Instruction Method: Group Live

In accordance with the standards of the Texas State Board of Public Accountancy,
CPE Credits have been granted based on a 50-minute hour.

CPE Sponsor #1140 - Lone Star Chapter of HFMA
Contact: Barbara Holloway

HFMA Lone Star Chapter | 1530 P B Lane #D1270 | Wichita Falls, TX 76302-2612 | 813.994.0107 | info@lonestarhfma.org

Registrar: *Barbara Holloway*

We have registered with the Texas State Board of Accountancy to meet the requirements of the continuing professional education rules covering maintenance of attendance records, retention of program outlines, qualifications of instructors, program content, physical facilities & length of class hours. This registration agreement does not constitute an endorsement by the Board as to the quality of the program or its contribution to the professional competence of the licensee. Records are kept on file for 5 years for audit purposes.

Continuing Professional Education Certificate of Attendance

on

March 15, 2023

Certificate of Attendance Awarded to:

Elizabeth Pulliam

Activity	General
Lone Star HFMA Webinar: 2022 Capital Markets Recap & 2023 Outlook for NFP Health Systems	1.00
Total	1.00

Instruction Method: Group Live

In accordance with the standards of the Texas State Board of Public Accountancy,
CPE Credits have been granted based on a 50-minute hour.

CPE Sponsor #1140 - Lone Star Chapter of HFMA
Contact: Barbara Holloway

HFMA Lone Star Chapter | 1530 P B Lane #D1270 | Wichita Falls, TX 76302-2612 | 813.994.0107 | info@lonestarhfma.org

Registrar: *Barbara Holloway*

We have registered with the Texas State Board of Accountancy to meet the requirements of the continuing professional education rules covering maintenance of attendance records, retention of program outlines, qualifications of instructors, program content, physical facilities & length of class hours. This registration agreement does not constitute an endorsement by the Board as to the quality of the program or its contribution to the professional competence of the licensee. Records are kept on file for 5 years for audit purposes.

Continuing Professional Education Certificate of Attendance

on

March 15, 2023

Certificate of Attendance Awarded to:

***Jeung Haeng "Masa"
Song***

Activity	General
Lone Star HFMA Webinar: 2022 Capital Markets Recap & 2023 Outlook for NFP Health Systems	1.00
Total	1.00

Instruction Method: Group Live

In accordance with the standards of the Texas State Board of Public Accountancy,
CPE Credits have been granted based on a 50-minute hour.

CPE Sponsor #1140 - Lone Star Chapter of HFMA
Contact: Barbara Holloway

HFMA Lone Star Chapter | 1530 P B Lane #D1270 | Wichita Falls, TX 76302-2612 | 813.994.0107 | info@lonestarhfma.org

Registrar: *Barbara Holloway*

We have registered with the Texas State Board of Accountancy to meet the requirements of the continuing professional education rules covering maintenance of attendance records, retention of program outlines, qualifications of instructors, program content, physical facilities & length of class hours. This registration agreement does not constitute an endorsement by the Board as to the quality of the program or its contribution to the professional competence of the licensee. Records are kept on file for 5 years for audit purposes.

Continuing Professional Education Certificate of Attendance

on

March 15, 2023

Certificate of Attendance Awarded to:

Hassan Stallings

Activity	General
Lone Star HFMA Webinar: 2022 Capital Markets Recap & 2023 Outlook for NFP Health Systems	1.00
Total	1.00

Instruction Method: Group Live

In accordance with the standards of the Texas State Board of Public Accountancy,
CPE Credits have been granted based on a 50-minute hour.

CPE Sponsor #1140 - Lone Star Chapter of HFMA
Contact: Barbara Holloway

HFMA Lone Star Chapter | 1530 P B Lane #D1270 | Wichita Falls, TX 76302-2612 | 813.994.0107 | info@lonestarhfma.org

Registrar: *Barbara Holloway*

We have registered with the Texas State Board of Accountancy to meet the requirements of the continuing professional education rules covering maintenance of attendance records, retention of program outlines, qualifications of instructors, program content, physical facilities & length of class hours. This registration agreement does not constitute an endorsement by the Board as to the quality of the program or its contribution to the professional competence of the licensee. Records are kept on file for 5 years for audit purposes.

Continuing Professional Education Certificate of Attendance

on

March 15, 2023

Certificate of Attendance Awarded to:

Gabriel Valles

Activity	General
Lone Star HFMA Webinar: 2022 Capital Markets Recap & 2023 Outlook for NFP Health Systems	1.00
Total	1.00

Instruction Method: Group Live

In accordance with the standards of the Texas State Board of Public Accountancy,
CPE Credits have been granted based on a 50-minute hour.

CPE Sponsor #1140 - Lone Star Chapter of HFMA
Contact: Barbara Holloway

HFMA Lone Star Chapter | 1530 P B Lane #D1270 | Wichita Falls, TX 76302-2612 | 813.994.0107 | info@lonestarhfma.org

Registrar: *Barbara Holloway*

We have registered with the Texas State Board of Accountancy to meet the requirements of the continuing professional education rules covering maintenance of attendance records, retention of program outlines, qualifications of instructors, program content, physical facilities & length of class hours. This registration agreement does not constitute an endorsement by the Board as to the quality of the program or its contribution to the professional competence of the licensee. Records are kept on file for 5 years for audit purposes.

Continuing Professional Education Certificate of Attendance

on

March 15, 2023

Certificate of Attendance Awarded to:

Kathleen Woodard

Activity	General
Lone Star HFMA Webinar: 2022 Capital Markets Recap & 2023 Outlook for NFP Health Systems	1.00
Total	1.00

Instruction Method: Group Live

In accordance with the standards of the Texas State Board of Public Accountancy,
CPE Credits have been granted based on a 50-minute hour.

CPE Sponsor #1140 - Lone Star Chapter of HFMA
Contact: Barbara Holloway

HFMA Lone Star Chapter | 1530 P B Lane #D1270 | Wichita Falls, TX 76302-2612 | 813.994.0107 | info@lonestarhfma.org

Registrar: *Barbara Holloway*

We have registered with the Texas State Board of Accountancy to meet the requirements of the continuing professional education rules covering maintenance of attendance records, retention of program outlines, qualifications of instructors, program content, physical facilities & length of class hours. This registration agreement does not constitute an endorsement by the Board as to the quality of the program or its contribution to the professional competence of the licensee. Records are kept on file for 5 years for audit purposes.

Continuing Professional Education
Certificate of Attendance

on

March 15, 2023

*Certificate of Attendance Awarded to:****Patrick Zagar***

Activity	General
Lone Star HFMA Webinar: 2022 Capital Markets Recap & 2023 Outlook for NFP Health Systems	1.00
Total	1.00

Instruction Method: Group Live

In accordance with the standards of the Texas State Board of Public Accountancy,
CPE Credits have been granted based on a 50-minute hour.

CPE Sponsor #1140 - Lone Star Chapter of HFMA
Contact: Barbara Holloway

HFMA Lone Star Chapter | 1530 P B Lane #D1270 | Wichita Falls, TX 76302-2612 | 813.994.0107 | info@lonestarhfma.org

Registrar: *Barbara Holloway*

We have registered with the Texas State Board of Accountancy to meet the requirements of the continuing professional education rules covering maintenance of attendance records, retention of program outlines, qualifications of instructors, program content, physical facilities & length of class hours. This registration agreement does not constitute an endorsement by the Board as to the quality of the program or its contribution to the professional competence of the licensee. Records are kept on file for 5 years for audit purposes.